
PM Series Wall Fans 
PM12W140MPA, PM16W140MPA, PM16W140MPA-BW  

PM21W190LPA, PM21W190LPA-BW, PM21W140MPA  
PM24W210MPA, PM24W210MPA-BW 

 

Repair Parts List

©2019 Val-Co Companies, Inc.

PM SERIES WALL FANS PM12W140MPA PM16W140MPA PM21W190LPA PM21W140MPA PM24W210MPA

ITEM # DESCRIPTION 12” 16” 21” 21” (Obsolete) 24”

1 FAN BLADE B303 (6 Blade, 45°) B315 (4 Blade, 35°) B327 (4 Blade, 35°) B330 (3 Blade, 35°) B339 (5 Blade, 45°)

2 FIBERGLASS HOUSING FP300W FP312W FP324W FP324W FP336W

3 MOTOR MOUNT FP302 FP314 FP326 FP326 FP338

4 EXHAUST GRILL FP303CH FP315CH FP327CH FP327CH FP339CH

5 MOTOR M714 (1/4 HP) M714 (1/4 HP) M719 (1/2 HP) M714 (1/4 HP) M721 (1/2 HP)

6 TRANTORQUE ZFB300 ZFB300 ZFB300 ZFB300 ZFB301

7 CONE FP301W (White) 
FP301 (Black)

FP313W (White) 
FP313 (Black)

FP325W (White) 
FP325 (Black)

FP325W (White) 
FP325 (Black)

FP337W (White) 
FP337 (Black)

- SHUTTER SPM12W (White) 
SPM12B (Black)

SPM16W (White) 
SPM16B (Black)

SPM21W (White) 
SPM21B (Black)

SPM21W (White) 
SPM21B (Black)

SPM24W (White) 
SPM24B (Black)

PM-BW SERIES WALL FANS PM16W140MPA-BW PM21W190LPA-BW PM24W210MPA-BW

ITEM # DESCRIPTION 16” 21” 24”

2 FIBERGLASS HOUSING 916023 921575 924023

ASSORTED HARDWARE FOR PM & PM-BW SERIES WALL FANS

ITEM # PART # DESCRIPTION ITEM # PART # DESCRIPTION

8 936013 SHUTTER CLIP 12 MH8206 #10 X 2” SELF-TAPPING SCREW

9 MH8029 1/4” FLAT WASHER 13 MH90043 1/4-20  NYLOCK NUT

10 MH8056 5/16-18 FLANGE NUT 14 MH90429 1/4-20 X 1-1/4” WAFER BOLT

11 MH8091 5/16-18 X 3/4” FLANGE BOLT

 

 

  
 

 

 

 

 

 

 

 

 

 

 

 

12

11

10

13 149

8

7

6

5

4

3

2

1

10
11

990016-RP (PM Series Wall Fans) REV1


